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Q-
Normal distribution is a limiting form
R A distribution,

Normal dislribution has ........ paramaters.

if mean of norimal diskibution is 36 then ils
modeis......... : '

As the sample size increases, the
standard error of mean.........

The difference belwaen the population
mean and a sample Mean iS.......

If the average value of the estimator
aquals to the ue value of Ine paramater,
the property is called............

....... is known as confidence level,

E(P)m S

What kind of refationship exists If ¥
decreasss as X Increases?

If tha coefflcient of correlation is a posilive
value, then the slope of the regression line

Relalionsilip between two categorical
varfables is called..............

For & 4 x 6 confingency table, the degree
of freedom for chi-square test o
independence is................ :

Given the numbets 2,3,7,8,9,10, the semi-
QVErages are...uumveie '

Those fluchsation in a time series, which
follow some regular pattern is called........

The graph of time series is called a

Which of the given is application software?

One gigabyle Is equal to ..........

sreensenn IUSTIDBY SyStem has base . '

Write the correet option i.e, A, B, C or D in the

A. Hyper-geometric B. Uniform

A, Qne B. Two

A S 8. i6

.A. Decreases B. Increases

A, Parameter B, Sempling error

A, Efficiency B. Consistency

A tew B. o

A B. P

A, Inverse B, Dirsct

A. Also podllive B. Negglive

A. Correlation B. Regression

A 4 B. 8

A (49 B (19

A. Signel B. Noisg

A Ogive B. - Histogram

A. Basic B. Word
POCBE500S

A. 1000 mb B. 1000kb

A, Octat B. Huaxadecimal

-empty hox p'rovided opposite to each part

¢. Binomial D. None of these
C. Three D. Nongof hese
c. 38 D, Nona of lhese
C. Remains lhe D. None of these
same

C. Standarderror D None of these
C. Unbiased-ness D. Sufficlency

C. B 0. None of thase
€. 8 D. None of these
C. Norelalionship D, None of these
C. Zerd D. Noneofthase

Marks: 85

ing or Qverwriting. Marks of [dentification will lead to UFM

Marks: 18

o [d ] =[] Pl [=]P][@F[ o] ® =0«

G. Association D. Ncneof thess
[ D, MNone of these
€. (39) D. Nons of these
¢. lrregular . B. HNone of these
varlations
C. Historigram D. MNone of these
¢. Forlran ‘ D. None of these
¢, 1024 mb D. 1024 kb
¢, Decimal D. Binary

@]
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T Ime allowed for Section = B and Section ~ G is 2 Hours and 40 minutes,

- Bection-B _ © 7 Marks: 40

Answer any TEN parts. Each part carries FOUR marks,

N e R W Mo

10.
1.

12.
13.

What is normal probability distibution?
State any four properties of normat distibution,”
*Let x be a-normal random variable with mean 48 sand! standard dawaﬁontl Flnd P(x > 50).
Explain stratified random sampllng
" Define and distinguish between type-| and lype-lf erors.
What are the propesties of lhe least square regression fine?
- Calcufale the co-efficiant of correlation from the following information: *
n=7 Ix=1400 Xy=280 ZIxy=70000 Ex¥=350000 Zy?= 14000. Also interpret the resull
Whatis the difference between nominal scale.and ordinal scate? Give exarnples.
Rank the data, 23,26,24,25,33,36,40,25,27,19,25,33, '

What is meant by seasonal variations?
Use the method of semi-averages to find trond vatues for the given data:
-Yoar 1994 1996 1994 1687 1998 1999 2000
Numbers 18:0 228 8.4 334 235 274 394
Differentiate between input and output devicss. - :
Gonvert the given into required base: L (117)0=(?h i (dACks=({7) .
' Section-C : _ Marks: 27

Attempt any THREE questions. All questions Carmy equa m_afks,_ _
Consider a finite population of size N = 5, whose slements are the numbers 3,5,7,9 and. 14, Draw a random sample of size 2 -
wilh out repiacement from. lhls population and determing the sample mean of each sample. Construct sam_pling distribution of -

0 ER=p. "A"“,T(N ‘)

N--1 B -
{i Discuss the concept of conlidence interval,
{il) ' Sample of 400 male students is found to have & mean height of 171,38 cm, can it responsibly be regarded as a

sample from a large population with mean height 171.17 cm and standard devialion 3.30cm,

Explain the meaning of regression of y to x and x on . Find the regrassion fine from given bivariate dafa:
X 1 D 3 2 ( 1 7 13 :

Y- 6 110 o [1 : 1. 15

If we consider terrorist activily against businesses during the first fhree-quarters of 1985, in Lalin An}erica there aro 443
bombings, 56 altacks on Instaliations, and 7 agsassinations. In Europe dusing this- same tme period, there were 101
bombings, 6 attacks on installations, and 10 agsassinations. Perform a chi-square {est of indepen_dence_. Use o = 0.05,



